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SMTF4R1BRE
T £ HEE 3 x Bt T £ HEE 3 = Bt
F / [ BT 91 97 110 207| E#H2TH 680 699 744 1,443
4 AHT 2327 2415 2511 4926/ E4#A3TH 603 624 699 1,323
fit] 52 ET 1,179 1,159] 1,247 2,406| L#AME4TH 713 715 759, 1,474
B[R T 224 251 213 464|HFR1TH 454 460 478 938
IR ET 1,166) 1,117 1,151 2,268|fhR2TH 452 436 443 879
ZALET 339 370 370 740[FR3TH 439 424 372 796
8 H ET 932 909 955/  1,864|FR4TH 398 371 406 777
FEET 137 161 134 295\ R5TH 284 236 275 511
£ X HHET 40 39 43 82(F1TH 747 702 700 1,402
NABE1TH 603 562 619 1,181|FG2TH 777 753 752| 1,505
N&ET2TH 548 546 554 1,100|FE3TH 472 471 460 931
N&AE3TH 361 385 433 818|M4TH 652 658 668 1,326
N&BET4TH 424 432 461 893|M5TH 770 802 854 1,656
N&AE5TH 463 455 509 964|m6 T B 644 711 752 1,463
A ErHT 344 335 294 629|F7 T H 839 899 920/ 1,819
SR AT 24 24 32 56 A1 TH 448 452 471 923
*E1TH 326 294 274 568|##2TH 896 917 977, 1,894
*ET2TH 289 284 308 592|##3TH 177 224 210 434
KEI3TH 339 353 358 T |#&B4TH 24 36 34 70
KET4TH 449 433 451 884|#MA5TH 468 495 547 1,042
KEI5TH 58 52 60 12(#HA6TH 623 604 653 1,257
*ET6TH 703 678 706) 1,384|KbH1TH 1,082 1,215 1,292| 2,507
¥ FHT 904 801 846| 1,647|XbE2TH 687 681 740, 1,421
S HET 90 97 100 197|583 TH 709 777 801 1,578
TARHT 551 661 654 1,315|KH&H4TH 44 57 60 117
1IF BT 69 62 78 140|0 =5 FE1TH 523 860 801 1,661
£ =R EET 7 7 10 17|05 2TH 635 776 709, 1,485
H i T 96 110 104 214| 0 =b5H B3 TH 1,213 1,366/ 1,384 2,750
1 BT 431 433 482 915|UM=b5HF4TH 502 605 592 1,197
A &= T 2,127) 2148|2276 4424|0=bFHFE1TH 839 870 893 1,763
iz LI T 53 54 55 1090 =65F2TH 547 756 708 1,464
HrAR T 66 87 81 168|UM=H5HE3TH 707, 1,071 1071 2142
B K F0 A BT 133 169 178 47V F-bHHRATH 974/ 1,290, 1,306| 2,596
X LVAN:] 149 224 192 416|V1=bEHR5TH 937 952  1,012] 1,964
1= HET 63 74 75 149|M=2TH 1,030 988 1,046 2,034
LHE1TH 586 608 630 1,238 HE3TH 325 329 295 624
39,005 | 41,168 | 42,438 | 83,606




